
cod. TH06

Triumph Street Triple 765 S/R/RS ’17/’22 
brake side_lato freno

8,48 Nm*M5 TS

14,71 Nm*M6 TS

35,30 Nm*M8 TS

10,30 Nm*M6 TCEI - TB

25,50 Nm*M8 TCEI - TB

ø 8mm

M6x30 TS

AR_122

SS_003

PS_064T

SP6_F5D13

BT_035

MO_002

FN_001
PF_001

BC_002

FN_032

PU_005

CS_002

PU_001_BK

M6x16 TS

M5x20 TS

M8x20 TCEI

M8x16 TCEI

M8x16 TCEI

M8x16 TCEI

M8x16 TCEI

M8x10 TCEI

M8 AUT

PG_03

M8x50 TCEI
10.9

PU_004

PG00_BK



cod. TH06

Triumph Street Triple 765 S/R/RS ’17/’22 
gear side_lato cambio

8,48 Nm*M5 TS
14,71 Nm*M6 TS
35,30 Nm*M8 TS
10,30 Nm*M6 TCEI - TB
25,50 Nm*M8 TCEI - TB

PU_005
PU_004

LC_040

R021_137
PS_063T

BT_024

SP8_F6D12

RH01_SX

M6x30 TS

M6x16 TS

M8x16 TCEI

M8x16 TCEI
M5x12 TS

M6x16 TCEI

M6 DX

M6 SX

M6x30 TCEI

M6x30 TCEI

M6x30 TCEI

M6x20 TCEI

M6x25 TCEI

PG_04

CS_004

RH01_DX

DC_025

SC_013

AR_121

PU_001_BK

PG00_BK

CS_002

M8x16 TCEI

BC_030B

M8x30 TCEI
10.9

M6x80 TS

Using this supplied screw to easely extract the part 
code SC_013, by screwing it in completely.
Usare questa vite per estrarre il selettore SC_013 
con facilità avvitandola completamente.

SP6_F6D13

Before assembling the part code DC_025, clean the thread 
carefully, removing all trace of threadlocker.
Prima di avvitare il componente DC_025, pulire accuratamente 
la filettatura, rimuovendo ogni traccia di frenafiletti.

standard
shifting

reverse 
shifting

SC_013CD


	TH06_DX
	TH06_SX

